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Q.No: 1 Which of the given statement is wrong with respect to loamy soil?
2426888
e I & ey § i3 7w F F & 91 e 82
It contains Sand and clay
A
T X R O Al ¥
It is the worst topsoil for growing plants
B
Tg Tgd U & T wed T Sudt g §
It has humus in it
C
T o dr ®
It contains silt
D

=3 MG R §

Correct Ans : B

Subject : General Knowledge

Q.No: 2
2426919

Choose the wrong statement with reference to the religious belief of Harappan people.

TSW & dl Bt uiffes Taa1 & e H TTad Fue & wae il
They worshipped mother goddess

9 & o Bt gen A 4
They worshipped Shiva Pashupati

FE g ugpufa 3t qen &t

They worshipped Vishnu

I g 3 g

They worshipped Trees and Animals

3 U SR ST 1 O vl &

Correct Ans : C

Subject : General Knowledge

Q.No: 3
2426939

Select the wrong statement about Dashavatara temple out of the following statements.

FoafaRed Tl § ¥ qXmear A4k & IR § a0 DY 3T 797 PR

It is a Vishnu temple.

T5 T fau #feR 31

It is located at Deogarh.

Tg g ¥ fRua B

It was made during Chera period.

T R HTA S IR ST T AT

A large number of stupas were cut out of solid rocks

Submit
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3N FgHT A 9t T & &y $re &
Correct Ans : C

Subject : General Knowledge

Q.No: 4 What was the name of the land tax taken by Non- Muslims in Delhi Sultanate?
2426951

foeelt weaa # TR-guanHI gRI forg 7T i SR &1 @ AW are

Kharaj
A

R

Ushr
B

9R

Gharai
C

W

Charai
D

R

Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which of the following is the only state of India to have two classical dance styles?
2427007

Frafafed # § S W YR $1 (HHE 9 § 9161 & IRa 79 Afwat g2

Kerela
A
Eac)
Tamil Nadu
B
aftrerrg
Uttar Pradesh
c
IR we
Manipur
D
AR

Correct Ans : A

Subject : General Knowledge

Q.No: 6  Which of the following dance does not require music instrument?
2427019

PaRifed ¥ 4 B T § arg 9o @ ez 78 Al 82

Ghoomar
A

™

Bhangra
B

HiTrsT

Chhau
c

/S

Kummi
D

gl

Correct Ans : D

Subject : General Knowledge



Q.No: 7 Who is the first player to win a medal in Commonwealth Games?

2427500
BT TR H TEa T S ar [RGars! B 82
Milkha Singh
A
e e
Laxmikant Pandey
B
gl qUey
Rashid Anwar
C
IR 3R
KD Jadhav
D
F o

Correct Ans : C

Subject : General Knowledge

Q.No: 8 In which year was the first edition of the Khelo India Youth Games held?

2427505

Qe 2T gy I T Uga SRRV b o oriifrd gam uT?

2016
A

2016

2017
B

2017

2018
c

2018

2019
D

2019

Correct Ans : C

Subject : General Knowledge

Q.No: 9 The World Bank has released its 17th annual report on 'Ease of Doing Business 2020' to 'Compare Business Regulation in 190 Economies'. Which country ranked first in the
2428890 report published by the World Bank?

oy §% 3 39 oif G fawmy 2020' W s+t 173 aiftfes Rdie 11990 3@ # fooa WRRE &1 gor & forw okl 351 31 Ay % gr1 yeiiRia Rl §f S a1 =1 1| /A W 82

Georgia
A

Sifetar

New Zealand
B

ohde

Singapore
C

fRmgz

Denmark
D

SIS

Correct Ans : B

Subject : General Knowledge

Q.No: 10 which of the following sports federations has its headquarters in Lausanne, Switzerland?
2430500



T3 H 1659 Wi B B YBIad JHH, RICoRAUs H 1¥Yd 8?

International Basketball Federation

A

SRIE epeaTd BeReH

International Cricket Council
B

SRRISH fipdpe PR

International Table Tennis Federation
C

areRTgta dae 2Fv traRee

International Badminton Federation
D

st e ake

Correct Ans : C

Subject : General Knowledge

Q.No: 11 When was the Credit Information Bureau formed?

2434050
ST FTHIRM SR F1 T34 H {1 T4 ?
2000
A
2000
2005
B
2005
2010
o
2010
2016
D
2016

Correct Ans : A

Subject : General Knowledge

Q.No: 12 Where is the Triveni Museum situated in Madhya Pradesh?
2441039

g woxr ¥ Ravlt GugTe et R g2

Sehore

R

Vidisha

fafe=m

Khajuraho

TR

Ujjain

I

Correct Ans : D

Subject : General Knowledge

Q.No: 13 Where is the Raja Mansingh Tomar Music and Arts University situated?
2441054

o AFRIE AR Wifia td e fyfdene el fRua 82
Bhopal

g



Jabalpur

SSRTRY

Gwalior
c

ifeER

Indore
D

R

Correct Ans : C

Subject : General Knowledge

Q.No: 14 Habib Tanvir is an eminent -

2441076
Flla TR U T -
singer
A
Riuca
playwright
B
ACHPR
craftsman
C
RiewsR
violinist
D
AR aeE

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following towns is said to have once been ruled by Mahabharata’s Shishupal?
2441355

Frafafaa # 9 5y TeR R $51 o § & St meivRa & Rgure &1 2me e

Chanderi
A
=8
Mandu
B
g
Ujjain
C
ek
Khajuraho
D
TR

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which of the following cities had witnessed the legendary romance of Rani Roopmati and Baaz Bahadur?
2441375

Froffea # 9 f&g R 3 T T iR a9 ge1gR & IRIfE IUIT B @ uT?

Bhopal
A
AT
Khajuraho
B
TR

(o} Mandu



g
Maihar

R

Correct Ans : C

Subject : General Knowledge

Q.No: 17 MP Investment Facilitation Act was enacted in which year?
2441647

dt PR gfaureur sifdfad fea af sitifafta fasar wr are

2006
A

2006

2008
B

2008

2012
C

2012

2015
D

2015

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which of the following sugar mill is not located in the district of Indore?
2441656

P & o el frer R e A e et 82

Neori Khandsari Sugar Mill

A
a8 wfeurt TR fire
Girdharilal Sugar And Allied Industries
B
FRURT PR S SRS $8ia
Shiv Khandsari Sugar Mill
C
g gsard TR f
Mahakaushal Sugar and Power Industries Ltd.
D

TR TR TS IR 538 it
Correct Ans : D

Subject : General Knowledge

Q.No: 19 Where is the Japanese Industrial Township being developed in Madhya Pradesh?
2441669

T yom B S St TR Bel et 1 W@ 8?

Shahdol
A

RUEIc)

Burhanpur
B

TRAR

Pithampore
C

g

D Sehore



R

Correct Ans : C

Subject : General Knowledge

Q.No: 20 In which year was the Department for Promotion of Industry and Internal Trade (DPIIT) established?
2441683

FENT SR S SR Gaef QUTT (DPIIT) 3T R g ay ot 7€ ot

1980
A

1980

1988
B

1988

1995
C

1995

1999
D

1999

Correct Ans : B

Subject : General Knowledge

Q.No: 21 Reema used to drink the untreated river water and was diagnosed with a water-borne diseases, botulism as she shows these symptoms-
2422815

i rguaiRa Tei o1 gt o oiv I urh & § arelt S, Sigiied 31 uar T o1 wifd a5 37 qeul o g 8-

Bottle like neck

A
e B T T
She can see bottles everywhere
B
@R TTE Aad 3@ Tl §
Dry mouth, blurred vision and difficulty in swallowing.
C
I Te, Yueht e} oIk Frrer & o
Ear canal swells and become bottle-shaped.
D

I ER Yo OIfel & 3R Siad & SMBR &1 8l el 81
Correct Ans : B

Subject : General Science

Q.No: 22 The waste released by textile industries, paper mills and paint manufacturing industries consist of certain harmful heavy metals such as
2422821

HUST T, Yo vl AR Te Fwion e gr1 818 T SR # T THeR® WR) ugl ddl § ol

Arsenic, nickel and cadmium

A
e, e IR FsfEm
Sodium, potassium and calcium
B
e, defmm ofR Sl
Chlorine, fluorine and cadmium
c
TR, TR SR Fsfrm
Calcium, xenon and argon
D

v, wufim oiR e
Correct Ans : A

Subject : General Science

Q.No: 23



2422824 Drinking water is necessary because:

7 &1 urft srawe § R
It helps us to keep our body hydrated.
A
g AR TR &) gRSeS T & gAR) Hee S gl
It helps us in digestion of food.
B
T & Hive & U  Tieg & 81
It helps us to get rid of cold
C
Tg 78 Tl ¥ goprr U & Aeg TRaT ¥
It helps us to wash our hands.
D

Ig g8 oM g1 9 & 7eg o B
Correct Ans : A

Subject : General Science

Q.No: 24 What lays eggs in waterlogged places?
2422986

SR a1 RIF H 318 B 3a 872

Frog

b

Mosquitoes

T

Snake

%

Lizard

gt
Correct Ans : B

Subject : General Science

Q.No: 25 The prominent symptom of dengue is
2422991

ST BT TG TE0T gl

Backache
A
dis o
Fainting
B
Ekil
Pain in eye socket
o
g & Hibe A g
Diarrhea
D
E15)

Correct Ans : C

Subject : General Science

Q.No: 26 AIDS stands for-
2422994

AIDS FT HaTH g?

A Actively Inactive Decor System



wfcadt $feea SHR Rew

Acquired Immuno Deficiency Syndrome

B

TBrE TR AR Rigy

Adrenaline Intermittent Deficiency System
C

TSR RIS HH ot

Acne Inactive Defect Syndrome
D

TR gy fedbere Rig
Correct Ans : B

Subject : General Science

Q.No: 27 The explosion of fruits that are the dispersal of seeds, by being thrown away from the mother plant. This condition is easily observed in which plant?
2428010

TR WE ¥ R Bo I F el & e e wal o1 fawpre | 7o Rl f5a i s § & onl 92

potato
A

ST

dandelion
B

Riguff

tomato
c

THIR

pea
D

AR

Correct Ans : D

Subject : General Science

Q.No: 28 Which among the following is the member of group dicotyledons?

2428024
Fofafea & § 1 o T o1 Jaw 32
mangoes
A
SH
corn
B
HIDT
wheat
C
g
bran
D
G

Correct Ans : A

Subject : General Science

Q.No: 29 Who gave three kingdom classifications?

2428778
7 g arffezor fe fear?
E.H heckle

A
$. ud. ¥%d

B R.H. Whittaker



HRTE TREHR

Carolus Linnaeus

Cc
e Riferr
Aristotle

D
SR

Correct Ans : A

Subject : General Science

Q.No: 30 Arrange these in increasing hierarchical similarity.

2428799

5% gl 58 doftes wHEaT A e w1

kingdom, phylum, class, order, family and genus
A

A, WY, o1, e, TRaR R S

kingdom, order, family, species, genus
B

genus, order, class, species
C

S, iR, aa, st

genus, order, division, class, order and species
D

S, ST, fedivr, am, aifdR 3R yenfaat
Correct Ans : A

Subject : General Science

82\1209:03010 radiation is used in electric water filters to kill all the harmful microorganisms present in tap water and make it absolutely safe for drinking.
1 % o 7 wiefe v g R geAsdl B AR SR U & R 58 fSepa WiE o b R Aol S o S feeer A Rfbor o1 Suhm e o 3
Infrared radiation
A
e fafor
Gamma radiation
B
T fafdRor
Visible radiation
C
T fafewor
Ultraviolet radiation
D

TRISTH fafeor
Correct Ans : D

Subject : General Science

Q.No: 32 Which of the following options is correct regarding the wounds on the body washed with salt solution? Why?

2429002
A % e ¥ €Y MY TR W 9w ey F Faiied § 3 o o e w8 8 |l
To remove the blood content in the wound
A
o # G P A B WA S R
For blood clotting
B
T P YFP o P g
To destroy germs
C

BETYSH B! 78 B & forg



To joint the bones

el ot g ¥ e
Correct Ans : C

Subject : General Science

Q.No: 33 Which one is different from the following diseases like Pneumonia, diphtheria, chicken pox, and cholera?
2429015

Fofafea & & @ w1 A Fefa, e, fea ofe ok gor ot fimfat & orem 82

Pneumonia

A
e
Diphtheria
B
e
Chicken pox
(9
o ofe
Cholera
D

g
Correct Ans : C

Subject : General Science

Q.No: 34 The swelling up of the dough for making bread is due to by yeast.
2430045

A T F g o & ToH R gRT___ & RO At ]

Fermentation

A
o]
Fungi
B
E=ca
Anaerobic respiration
C
ST T
Aerobic respiration
D

RfE g
Correct Ans : A

Subject : General Science

Q.No: 35  Which one of the following is not the place of TamilNadu harnessing wind energy from windmills?
2430076

ol & § $9-1 IfieErg &1 M T8 |, o e afawar § uad Suf $1 ST HRaT 82

Aralvaimozhi

A
SRR
Kayathar
B
PR
Pallamadi
Cc
YeaHISH
Kochi
D
i

Correct Ans : D

Subject : General Science



Q.No: 36 Pointing to a photograph a man said,” I have no brother or sister but that man’s son is my grandson’s father”. Whose photograph was it?
2422452

TP TER F SR IR IR §U TP SEH A HgT, "B Vg YIS A1 951 81 & Qb 39 et 3T det AR 9 31 firen 871 et wieh are

His son’s
A

I G

His father
B

Fq% T

His nephew’s
C

FHE Hefte

His own
D

CUEIRCRET

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Rahul, Riya and Raja are in a house. Rahul is Raja’s son and Riya’s maternal uncle. How is Raja related to Riya?
2422474

gd, Rar ol o T W H §1 g o 51 g 3R far o1 amm R 3, fan § 5w uer wetd g2

Maternal grandfather

A

=

Paternal grandfather
B

<Tar

Maternal uncle
C

AE

Father
D

fora

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?

2422587
0, 3, 8, 15, 27, 35, 48
gl | TTed $H PT el TI?
0, 3, 8, 15, 27, 35, 48
15
A
15
35
B
35
27
c
27
48
D
48

Correct Ans : C

Subject : General Reasoning



Q.No: 39 Find the wrong term in the series?
2422607
210, 195, 175, 150, 120, 90

el | TTerd hH T Yl TL?

210, 195, 175, 150, 120, 90

210
A

210

90
B

90

175
C

175

150
D

150

Correct Ans : B

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424512

S eq BT TG HISYI

Autocracy
A

THaa

Diplomacy
B

gt

Democracy
c

e

Theocracy
D

e

Correct Ans : B

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.

2425646 v
/

5 el B By 9 Gen 3 Bk
£\ T

N

19

19
18

18



17
16

16
Correct Ans : B

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426293
ABCD : WXYZ :: EFGH : ?

I HeR-TUE BT T4 Y ol TG HaR-IE ¥ I UPR Haflid § S GO SfeR-9TE, Ted SiAR-TTE § Wefdd 71

ABCD : WXYZ :: EFGH : ?

STUV
A

STUV

STOU
B

STOU

STUE
C

STUE

TSUV
D

TSUV

Correct Ans : A

Subject : General Reasoning

Q.No: 43 [
2426393

3W TEAT [fAheT & T HY S Al TEA ¥ 3 TR TAOd § AW gEy TEAT ggen
T ¥ wered gl

1:-1:0:2:7?

4

5
Correct Ans : B

Subject : General Reasoning

Q.No: 44

Sazeats Sclect the option /number which is related to 3" number in the same way as 224 number is related to a

1st number?
2:32%a:?

3H TCAT /Ao T 99 H{ S A TEAT ¥ U TR HEOd § S g@d §EdT ggelr
& ¥ Efea ¢
2:32%a:?

A a2



a3
B

33

aS
C

35

a6
D

a6

Correct Ans : C

Subject : General Reasoning

Q.No: 45 1In the given diagram, Circle represents places in mountain, Triangle represents places with heavy rainfall and Rectangle represents places in desert.

2426558
10 15 18
17 /9 [\ 14
13
How many places are in mountain with heavy rainfall?
fow g svE #, 30 uda & wiFl @1 waffiE s B, fye 1 asf 9 vt w1 gffiia a g iR smd X § wiE # pfoRRa s g
10 15 18
17 /9 /¢ \ 14
13
YR a9 aret gddl & fre ' 2
15
A
15
30
B
30
6
C
6
14
D
14

Correct Ans : C

Subject : General Reasoning

Q.No: 46 The diagram represents the likes of Students of a class.

2426603
“ Mango

0))

T

Orange

Pineapple

What is the difference between who likes Pineapple and Mango?

SR TF Fefl & BEN 1 0E $T Wi Far 31



SFMN 3R 3 TR B ardl & o e 82

8
A

8

12
B

12

3
C

3

11
D

11

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429534

DHLP : HMHK :: EJOT : ?

I faded o1 709 I o IR UE A S THR Halid § S g Ug TR Us ¥ Yafdd g

DHLP : HMHK :: EJOT : ?

IJKL
A

IJKL

IOKO
B

IOKO

IJKO
C

IJKO

IOK)
D

IOK])

Correct Ans : B

Subject : General Reasoning

Q.No: 48 1 is the daughter of I; H is the brother of I; G is the sister of H; K is the brother of J. How is H related to K?
2429573

LIBGERE H IFTUER; G, HI TG §; K, I FTUE 31 H, K ¥ g veRr vl g2

Mother
A

Hidl

Father
B

o

Aunt
C

il

Uncle
D

AT/ A%/ HHT

Correct Ans : D

Subject : General Reasoning



Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433195

-

Correct Ans : B

Subject : General Reasoning

Q.No: 50 ' Identify the figure that completes the pattern.

2433491
? +D
ST

I SMPTA P UgaH B o U B G Bl B

? <Q>D
E\NAL

3




3
I,
I,
<(>>EI
</\‘)>El
=
o

Correct Ans : B

Subject : General Reasoning

Q.No: 51 - gglect the option that is related to the third number in the same way as the

2434886 ;
second number is related to the first number.
1.1 .1,

— Li=l?
11 121 9

39 fashed &I T+ T St Al FEaT & 33 YR Fafia § S gadr g,
Tgell AT § Tl g
1.1 .1,

— il llz?
11 121 9

100

Correct Ans : A

Subject : General Reasoning



Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440180 are Iogically consistent with the main statement.

If I eat healthy, I will live healthy
A. I ate healthy

B. I lived Healthy

C. I did not eat healthy

D. I did not live healthy

T 1Y vy F T FUA AR IS 91E TR BYF §| YT BT Bl g A, T8 Ued FYH B A GER Y G 7, SR & Y i T § g8 $YF § 9 8
R & W W, o H W g

AT R IR/

B.H W g1 U

C. H% W i @

D. H Y e Tgar o1

AB
A

AB

BA
B

BA

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440212 6 [pgically consistent with the main statement.

If the capital is shifted, the people will face difficulties
A. the capital was shifted

B. the capital was not shifted

C. the people faced difficulties

D. the people did not face difficulties

U 7T Uy B GBI FuF SR ITF TG IR B § | B! B1 B GH T, Tal Ugd FY P A GIX $F ¥ §, 3R ) FYA AMfdhd U § GBI YA I W &
ey e g8 < <l 1 St gkt

A. IS Y RN B fear o

B. ISIUF Bl RIFTaRe T8t febar ar o

C. 7T Y HISISN BT AT HAT IS

D. TiNTl &1 SIS BT AT el BT UST

AC
A

AC

BC
B

BC

DA
C

DA

cD
D

cD

Correct Ans : A

Subject : General Reasoning



Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440259 gre Iogically consistent with the main statement.

If Government imports sugar, the prices will come down.
A. Government imported sugar

B. Government did not import sugar

C. the prices have come down.

D. the prices of sugar have not come down

T 1Y vy F 1 FUA SR IEF 91 IR B § | YT BT BT GH T4, T8 Ued FH B A G Y T B, IR € F e FU § 981 $yF § W 7
SR THR I BT S Bl 3, O Pproval o S Mg

A. WHR F =R &1 3 foba

B. WRPR 7 I+ T ST 61 fan

C. P & ot g B

D. 9 & & 1 T gu 8

BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441953
CO:HU::TG:?
I e 1 757 ¥ S eR U I ST TR Taia & O TeR gER1 Ug Usd Ug I el § |
CO:HU:TG:?
YN
A
YN
XN
B
XN
YM
C
YM
XM
D
XM

Correct Ans : C

Subject : General Reasoning

Q.No: 56 simplify: 3690—100+20 x 3
2422337

IRA DIV 3690 —100+20 x 3

A 3675



3675

3574
B

3574

3674
C

3674

3784
D

3784

Correct Ans : A

Subject : General Maths

Q.No: 57 Simplify: 65— [39+{41 - (5+2
QNo: 57 - Simplify: 65 -39+ (41— (5 +2)}]

WA BN 65— [39+ {41 - (5 +2)}]

8
A

8

7
B

7

-8
c

-8

9
D

9

Correct Ans : A

Subject : General Maths

Q.No: 58 Sandeep deposited Rs.5390 with a finance company for 2 years at an interest of 8% per annum. What is the compound interest that Sandeep gets after 2 years?
2423599

TIT A T fad SO & 1Y 2 T F R 8% via I F S W 5390 T S Ul W B 2 9 &g fraen awafs s e 82

Rs.125.38
A

Rs.125.38

Rs.145.77
B

Rs.145.77

Rs.178.78
C

Rs.178.78

Rs.896.896
D

Rs.896.896

Correct Ans : D

Subject : General Maths

Q.No: 59

. . . . 1
2423614 Priyanka took a loan of Rs.31200 against her insurance policy at the rate of 9-% per annum. Calculate

2
the total compound interest payable by Priyanka after 2 years.

BT 31 5 31200 Y @ 929 2 X & FwRY AT TR & RarTeh af v RrzienT @ 2 et
& d1e; & Frel Ushg & TS T A0 X |

A Rs.1230.76



Rs.1230.76

Rs.2345.21
B

Rs.2345.21

Rs.898.62
C

Rs.898.62

Rs.6209.58
D

Rs.6209.58

Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:
2428579

{25% 25 =24 x 24 + 6 x 6 + [50 x 10 - S00f5 - (25 x 5 + 22 x D}

saaﬁ:

(25%25 =24 x24 + 6 x 6+ [50 x 10 =5 & 50- (25 x 5 + 22 x QJ}

160
A

160

166
B

166

165
C

165

163
D

163

Correct Ans : B

Subject : General Maths

Q.No: 61 The batting average for 40 innings of a cricketer is 60 runs. If his two innings are excluded the average of remaining 38 innings is 55 runs. Then the sum of these two innings
2432519 o

T fohder B 40 IR T qeaiamoll ¥ 60 I 81 AR IWS! 21 Uikl ) Big & o I 38 WIRE! 1 i 55 F g1 @ 37 <1 Il &1 4 82

300 runs
A

3001

280 runs
B

280 T

310 runs
[

310

260 runs
D

260 T

Correct Ans : €

Subject : General Maths

Q.No: 62

2434685 What is the HCF of (W +4)7(=3)® and G-D+9)(x-3)%

(x+42(0-33{R (v~ v +4)(x -3 T HgaH AT T 22



(x+4)(x-3)°

(x+4)(x-3)°

(+4d)(x-3)
B
(x+4)(x-3)
(x+4)*(x-3)
C
(x+4)*(x-3)
(x-Dx+4@E-3)
D

(x-Dx+4@E-3)

Correct Ans : A

Subject : General Maths

Q.No: 63 1 1
2434735 x+==3 X -x—3=?

If x 7, then

4722
A

4722

4922
B

4922

492
C

492

49242
D

49242

Correct Ans : A

Subject : General Maths

Q.No: 64

[ = _ 1
2434765 1eX L] 9, then find the value of (x — 7)3 — -7

af* - El=og d-rp-wrmramme

18
A

18

3
B

3

6
C

14



14

Correct Ans : D

Subject : General Maths

Q.No: 65 If the selling price is doubled, then profit become tripled. Therefore, profit percent is

2435210

o fasa gea g = faar sme @ @ 9 T 8 ot ], 99y uiiwd gem

662 %
A

665 %

100%
B

100%

105% %
C

105§ %

120%
D

120%

Correct Ans : B

Subject : General Maths

Q.No: 66 If the difference between 15% loss and 15% gain is Rs. 450, then the cost price is

2435230
Y 15% Y 3R 15% B BT <R T, 450 T, A FTIH &
Rs. 1,500
A
3. 1,500
Rs. 2,000
B
¥. 2,000
Rs. 2,200
c
3. 2,200
Rs. 1,200
D
3. 1,200

Correct Ans : A

Subject : General Maths

Q.No: 67 Akshay bought an air conditioner having list price of 35000 at 20% discount. If shopkeeper offered an additional discount of 4% on paying cash then what is the amount paid
2435290 py Akshay to buy air conditioner by cash payment?

3arg A 35000 U Yol He¥ a1l TP TR SRR 20% FT W WA IS GHFER 7 TG YA W 4% P ARG [T Yo P, F Siard gRI FHE Y W TS T TR SR &1 g Jid

HifTe?

Rs. 26880
A

26880 ¥W

Rs. 22540
B

22540 T4

Rs. 28420
c

28420 T4y



D KS. £4350U0

24360 W
Correct Ans : A

Subject : General Maths

Q.No: 68 _!_,
2437468 o007 is equal o:

— R E:

14.29

14.29

13.44

13.44
10.03

10.03
70.5

70.5
Correct Ans : A

Subject : General Maths

.No: 69 7511 13, .
2437433 Arrange ;,g o ﬂndﬁ in ascending order.

L1 L MRE PR FrH EfREaIRG

Correct Ans : B

Subject : General Maths

.No: 70 . . — , '
24307548 The right expression of ¢.-16 in the fractional form is:

e EUH 6. 16 31 IS A am g

A 646
99



646
99

64640
1000

64640
1000

640
100

640
100

640
99

640
99
Correct Ans : D

Subject : General Maths

Q.No: 71 If in a symbolic language ‘SISTER' is written ‘RHRSDQ’ then ‘UNCLE’ will be written in the same language as?
2422537

afe; fopelt Aiehfaes HTm & 'SISTER' &1 'RHRSDQ' foRaT Sal 8 Y "'UNCLE' 1 it o # ferar sem foredie

TMBKD
A

TMBKD

TBMKD
B

TBMKD

TVBOD
C

TVBOD

TMKBD
D

TMKBD

Correct Ans : A

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘SIR’ is written ‘PSPIPR’ then *MAN’ will be written in the same language as?
2422567

g B Widsfae Hren & 'SIR' &I 'PSPIPR' foral ST @ *MAN' &1 It wisT # feran Simea foraa?

PMANP
A

PMANP

PMPAPN
B

PMPAPN

NANP
C

NANP

NGOD
D

NGOD

Correct Ans : B
Subject : Mental Ability



(22;"“205157835 In a row of 30 trees, Mango tree is 13® from right end. Then find the rank of Mango tree from left end.

30 B B UF UfRT F o &1 08 g BR A 133 WA W F1 A ¢ BR J o4 &7 05 31 ¥ 79 B

17
A

17

16
B

16

18
C

18

15
D

15

Correct Ans : C
Subject : Mental Ability

Q.No: 74 If PALAM could be given the code number 43, what code number can be given to SANTACRUZ?

2426503
I PALAM &Y e BT 43 &l O et §, i SANTACRUZ & &iF T e TBl €t off Tl 82
75
A
75
85
B
85
120
C
120
123
D
123

Correct Ans : D
Subject : Mental Ability

Q.No: 75 Ifin a certain language, TRIANGLE is coded as SQHZMFKD, which word would be coded as DWZLOKD?

2426533
afg Tt Ffyd uren # TRIANGLE, & SQHZMFKD, & U ¥ Sifgd famar orar §, o fa Weg &1 DWZLOKD & w4 & $ifsd fawanm smommr?
EXAMPLE
A
EXAMPLE
FIGMENT
B
FIGMENT
DISMISS
C
DISMISS
DISJOIN
D
DISJOIN

Correct Ans : A
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at
2430218 yariance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: The distance of 400 km by road between goa and Haldia will be reduced to 180 km by sea. This will lead to the saving of Rs. 3.92 crore per annum on fuel.



Conclusions:
1. Transportation by sea is cheaper than by road.

II. Fuel must be saved to the greatest extended.

Frofafaa wsii &, <1 Fu= S e 1, 11 37 SRR S7d § SMUS! SHT FUHI R TR S 8, 4 @ 4 oIk | I1d auil § welid 81 @il simuet 4w fau e wue % afe fse &) A S T
g

Y TiaT 3R fee & d wse anf A 400 frd B g8, wgs & gR 180 fard o & Seht R e W wfdayd 3.92 FRIs T B w9q gnill
W:

1. TG% gRI uRaed 95 anf & W 21

11. $F B TG § QT F= AR

Only conclusion I follows

A
S e 1 SR R §
Only conclusion II follows
B
aw iy 11 e SR §
Either I or II follows
Cc
1A I 97 1T SR 6l §
Neither I nor II follow
D

TN I MR IX TR AT ¥
Correct Ans : B
Subject : Mental Ability

Q.No: 77 1In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at
2430247 yariance from commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: The selectors may select a candidate who neither possesses the highly qualifications nor the values.
Conclusions:
I. The inclusion of selectors on the panel does not guarantee that selection will be proper.

II. The interview test has many limitations in the matter of selection.

Frofafea ust &, 3§ Fua 3 Fspy 1, 11 37 IR0 IR § SUD! Sl DAl TR IR S g, 43 @ 9 SfdR W 1 adi § Udid 89 | sus! 1 2w T s & afg fesd €1 dl a1 9m
Egd

B TH T SHIGAR BT 9 HR Thd ¢ o U A dl 3o Tra g1 SR 7§ Twdl
e

1. TGt o BT H N ST 39 a1d 31 TR T Ear & 77 Ifa g

1L 7 & HHA § WETR Tden $1 &3 dg 31

Only conclusion I follows

A
Paa Y 1 SR TR §
Only conclusion II follows
B
Paa Y 11 TR0 BT §
Either I or II follows
C
1 I 1 1T SRR FRell §
Both I and II follow
D

I 3R 1T SF SFTER0 Rdl &
Correct Ans : D
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance
2435460 tom commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:



I. No bat is balls.

IL. All balls are rackets.
Conclusions:

I. Some bats are rackets.

II. Some rackets are balls.

1 3w T Ty A Q) F SR TS a1 <& s 1 9k 11 fRw e 1 enuet faT T U Y W HEAT ], A1) o SERe: 9id aeat & i el g 7, simae fofa @ @ 5 e e ey & @ o
1 e aifhes T A SRR FRaT B

P
1. B dfd Feel 3
11. o dfft ¥e §
e

1. $F geal e g
I1. $B ¥¥e 917

Only conclusion I follows.

P e 1 3R B 1

Only conclusion II follows.

Fad fpy 1T SR S 1

Both conclusions I and II follows.

Sl sy 1 @R 11 SRR Ra B

Either conclusion I or II follows.

1 < e 17 11 SERY e B
Correct Ans : B

Subject : Mental Ability

Q.No: 79 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from
2435520 commonly known facts, read all the conclusions and then decide which of the given conclusions logically follows the given statements.

Statements:

All writer are doctor.

No doctor is painter.

Conclusions:I. Some writers are painter.

II. No writer is painter.

Frofafad vy ¥ 5o FU F 915 o Ay fiu T §)1 T T FHT B 9 T g g § 9 91d @l § i udia @9 §) 3 sl 3 0g ik fR fofa & i e fased g e s
BT THETT T F SR Bl 51

B
1. ) e, Ry B

2. B Rifws, fFeRr T )
o

L. $ 4u9, PR 8

11. B o, REaR T 81
only I follow

Pad 1 T Bl g

Only II follow

Pad 11 3TER Sl 8
Either I or II follow

1A I 97 LT SR Bl g

Neither I nor II follow

T I T IT TR ST 8

Correct Ans : B



Subject : Mental Ability

Q.No: 80  n the following question, the statements are followed by conclusions. Study the conclusions based on the given

2438543 ) ;
statements and select the appropriate option as your answer.
Statement:

T>0=I>L=D
Conclusions:
I.D<T
II.D=T
AFATTET 937 &, FU=! & aig favay fgu 1w §)
U 3T & & HTUR T TASHY BT J7eTTe B A 379 3ol & F9 & 39Gad faded T 99 H
FUA:
T>0=I>L=D
forsad:
I.DLT
I.D=T
Only conclusion I is true
A
Fad Py 199§
Only conclusion II is true
B
Faa Y 11 9 7
Either Conclusion I or II is true
C
T Fred 197 11 9 §
Neither conclusion I nor II is true
D

TRfefI RIS ITTE

Correct Ans : C
Subject : Mental Ability

%:;08:58614 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P>=T>Q<R<S
Conclusions:
I.LP>Q
I.LP =R

fFafafid 92 &, S+t & arg ey G 7 g

fET 91T HYAT & HUR R FFT &7 37eqga & AT 379 3ca{ & T A 3G90 [admed o1 99 i
FU:

P>T>Q<R<S

forsad:

LP>Q

ILP2R

If only Conclusion I is true

Fad w1 9T &

If only Conclusion II is true

P Y 11 T9 §

If either Conclusion I or II is true

qASY 1A I TIR

If neither Conclusion I nor II is true

TFAfy I dRTR I TR
Correct Ans : A
Subject : Mental Ability

e L E_ M s s b e s ___ E_mi__._ Y S S S



Q.No: 82 111 LIS 1UNUVIINY YUESUUIL, UIE SLALEINTHLS IS IUHUWEU LY LUHILIUSIVIS. SLUUY LIS LUIILIUSIVIS UASTU Ul LIS YIver
2438593 statements and select the appropriate option as your answer.

Statements:

A<B<C<D=E

Conclusions:

B<E

B<E

el e &, Fuet & arg forsed fqu a7 §)

T T FUAT & HUR R G T 7eqT & AT 370 Ieal & T & 39Gad [Amed & 99 F
CCH

A<B<Cs<D=E

forsad:

B<E

B<E

Only Conclusion I follows

A
Fag s 1 9}
Only Conclusion II follows
B
Faa Frspd 1T ¥ §
Either Conclusion I or II follows
C
g o e
Neither Conclusion I nor II follows
D

TafefraRTRIIvad

Correct Ans : B

Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439079 from commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All books are boxes.

All boxes are banks.
Conclusions:

1. Some books are banks.

II. All books are banks

13 e MU vy B <) FUA U S UL &1 Sy 1q9T 11 RT T E 1 STt R T By B W O § |, M3 §) 98 Tded ol & R ol €1 81 quT el F SR TR ST ST STR A E |
U

Tt fars sl B

T 9 S B

e

L. $T e 9% g

11. Wt frad 8% 7

Only conclusion I follows

Fad ey 1 SR Far

Only conclusions II follows

g Prepd 1T SRR Bt &

Both conclusions I and II follow

2 frepd 1 iR 11 3R Ba §

Neither conclusion I nor II follows

T e 1 3R T € 11 SR R B

Correct Ans : C
Subject : Mental Ability



Q.No: 84 Arrange the following words in a logical and meaningful order.
2442666

1. Child

2. Marriage

3. Infant

4. Employment

5. Education

FufifEa vl o tF aife wd srfgel w0 # erafem Fifm)
1. &
PRCEI
3. aad
4, IR

5. fRrar
4,1,3,5,2

4,1,3,5 2
3,1,5,4,2

3,1,54,2
3,5241

3,524,1
5,2,4,1,3

5241,3
Correct Ans : B
Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442675

1. Ploughing up the field

2. Bread making

3. Production of wheat

4. Wheat grinding

5. Sowing the seeds

6. Dough making

FfiRad el & adbyel dur aefe Ha § orafld $ifg:
1. Od B a8

2. 0

3. g &1 SAGT

4, g g

5. &S &

6. 3TeT AT

1,5,3,4,6,2

A
1,5,3,4,6,2
2,53,4,1,6

B
2,53,4,1,6
1,5,3,6,4,2

c
1,5,3,6,4,2
4,5,2,6,1,3

D

4,5,2,6,1,3

Correct Ans : A



Subject : Mental Ability

Q.No: 86 Which of the following is divisible by 4?

2427589
Frofafea & 4 o1 4 3 favrsa &2
2362
A
2362
7422
B
7422
5524
c
5524
3761
D
3761

Correct Ans : C

Subject : General Aptitude

Q.No: 87 The difference between an internal angle and an external angle of a regular decagon is?
2431327

TE 10 Y1 It At SgYe & ;D10 G J16d SI0 HT SfeR fba1 grm?

A 108 degree
108 &

B 120 degree
120 f&7it

c 132 degree
132 f&h

D 144 degree
144 f&h

Correct Ans : A

Subject : General Aptitude

Q.No: 88 If an airplane Covers a distance of 980 km in 35 minutes. then what time it will take to cover a distance of 1470 km.
2435974

I T gar we 35 fiFe # 980km B gt T FRT 7, A I8 1470 km B g T FA F e v o

ihours
A

1 .

3 ue

1% hours
B .

1§ ue

? hours
c 8

g

8

12 hours
D

1w

6
Correct Ans : C

Subject : General Aptitude

Q.No: 89 A car travels 80 km in 2 hours and a train travels 180 km in 3 hours. The ratio of speed of the car to the train is-
2436004

T BR 2 g0 F 80 el &) e el § 3R U Y 3 ueR A 180 e 5 wnn aRd §1 aR Y Yt A = B S @l 82
2:3

2:3



3:2

3:4
c
3:4
4:3
D
4:3

Correct Ans : A

Subject : General Aptitude

Q.No: 90 A car moving in the morning fog passes a man walking at 4 km/h. in the same direction. The man can see the car for 3 minutes and visibility is up to a distance of 130 m.
2436013 The speed of the car is:

T8 F PIex H Tah §S P FR I femn & 4 5. /v Bt 9  ed 990d g TE oerl 1 OR SRl 71 onert 3 e 9% PR 31 S Wahdl § 9T B} F PRYT bad 130 HeR 31 gl @
W1 W BT 1 PR P AT 82

5.5 km/h
A
5.5 f&.. /der
6.6 km/h.
B
6.6 .4 /der
7km/h.
c
7 .5, rdfer
5km/h.
D
5 {7, /der

Correct Ans : B

Subject : General Aptitude

.No: 91 - : \ ) - .
(224305017 Walking at z of his usual speed, a person reaches his office 20 minutes late than the usual time.

His usual time in minutes is:

T giFd A9 g afa fr fﬁﬂﬁrwmgmmﬁmmﬂzo MN#W%IW@W
su= fB=rel # g gAa

25

25
30

30
20

20
40

40
Correct Ans : B

Subject : General Aptitude

Q.No: 92 Train A and B start at the same time. Train A travels at 55 km/hr from station X to station Y and train B travels at 80 km/hr from station Y to station X. They cross each other
2436051 after 1 hour and 36 minutes. What is the distance (in km) between station X and Y?

T A SR B U@ & 990 H T G 1 7 A A X A WIA Y ad 55 .1 /d9er 31 7 I 3 amn a=ct § $IR 297 B R X a@ @t arn 80 1.1, /der o5t 71fd § 3wt 31 3 to o oI 36 frie &
e U IR B UR P 81 WA X SR Y & e & (b, &) e g2

196

196
B 232



232

240
C

240

216
D

216

Correct Ans : D

Subject : General Aptitude

Q.No: 93 A and B together can do a piece of work in 12 days. While B and C can do the same work in 16 days, A work 5 days. B work 7 days and remaining work finish by C in 13 days.
2436073 How much time will A take to complete the 60% of the work with 40% of his efficiency.

A 3R B fraaR ot o 31 12 R ¥ oefe B SiR C R SR s ot 16 RA A W e Gwd 81 AT 5 fGA B 7 T H qur € 7 13 37 o1 o ol G vl &1 TAIRT A UL &aT &
40% ¥ B F 60% HIT B fba g B - TR FI?

35 days
A

357

24 days
B

24

20 days
C

20 @7

18 days
D

18 &

Correct Ans : B

Subject : General Aptitude

Q.No: 94 A can finish a work in 7 days. B can finish the same work in 9 days . The days required to finish the work by both of them together.
2436121

AfFfiomal 7 AR W R IS 3 B IR s B 9 37 H R Yaar 31 1 ol AR smu A § e fgm it

115
16

115
16

15
216
15
2%

15
3T
15
3T

15
‘16
15
‘16

Correct Ans : C

Subject : General Aptitude

Q.No: 95 Dadra, Nagar and Haveli can do a work in 37, 111 and 333 days, on completing the work they get Rs.2197. What is the difference in Dadra and Haveli's share. (in rupees)
2436129

3R, TR 3R gach fFeh & B 37, 111 3R 333 faAll Ff HR USd ¥, FW T A W 3% 2197 03 Frear 31 <1e1 R gacht F 7 & fram &7 oieR 32 (30 )

1352
A

1352

1254
B

1254

C 1055



1055
1357

1357
Correct Ans : A

Subject : General Aptitude

Q.No: 96 What is the sum of digits of the least number which when divided by 15, 18 and 24 leaves the remainder 8 in each case and is also divisible by 13'?
2436142

34 Bt ¥ DI W F 3w 1 A 7 § R 15, 18 T 24 | i -7 W Ul o= § I9hd 8 F9aT § SR o 13 ¥ faursa €2

16
A

16

13
B

13

15
C

15

17
D

17

Correct Ans : D

Subject : General Aptitude

Q.No: 97 On dividing a number by 38, the quotient is 24 and the remainder is 13, the number is:

2436145
TF GO B 38 § ARG A TR UNTHT 24 3R J9HT 13 U B9 2, o TS 8
956
A
956
904
B
904
925
c
925
975
D
975

Correct Ans : €

Subject : General Aptitude

Q.No: 98 If sum of 8 consecutive odd numbers is 640 then, find the square of highest number.

2444529
g 8 AN fava TBImsi o A 640 7 Y, TaY I oI 1 @l J1d Piforl

A Jees

B Jes

T

o

Correct Ans : B
Subject : General Aptitude

Q.No: 99 The sum of six consecutive even numbers of set-A is 402. What is the sum of another set-B of four consecutive numbers whose lowest number is 15 less than double the
2444535 |gwest number of set-A?

T: FAFTG T S & (@ THAT-A FI GRT 402 §1 TR HANG ST & TF 30 G -B H1 AN 1 5N Forad! <gad GBI TE0-A B Jad G871 & G & 15 $1 87
A 444



444

442
B 442
440
¢ 440
446
b 446

Correct Ans : B

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark ? in the following number series?
2444657

8, 12, 39, 55, ?, 216

T Sl & e ® U fov ? & ®F W 31 S

8, 12, 39, 55, 2, 216

190
A

190

180
B

180

80
C

80

155
D

155

Correct Ans : B

Subject : General Aptitude



